Algebra 1 a_ﬂ;a,’-rd (V)—I)
Arithmetic Sequences - Explicit Formula

Name___ Apnswer KC\,I

Date Period__

Find the common difference. Write the explicit formula. Determine the unknown term in the

arithmetic sequence.

1) -3, 7, 17, 27, ...
Find a,

T-(-8)=7+3:10
/?’-7:/0 GL= 10

Q,,=-3+10(33-1)

Qg3 = -3 + 10 (32)
Qyz= -3 4 320
As3 = 317

3) 32, 40, 48, 56, ...

Finda:M
40-32: ¢
4g-40 = § L - 4

Ougef = 3R # (3% ~1)
Rgy: 32+ 8(33)
QJ/-' 32 + 2464

Ty = 276

2) 32, 41, 50, 59, ...
Find a,,

4)- 3= 9
50-41=9 d=9

4'40 : 3L F QK“/O‘/)
Py, = 32+ 9(39)
&',,/a = 3?3

4) -28, -38, -48, -58, ...
Find a,,

“38-(-a¥) - -3%8 +28 /0
NS - ("3%): -S€ +38 = -10 f=-s
L7 -8 -10(33-7)

Laz-R8 -10 (32)

A, 4 < -8 -390

Ly3 = -3¢



5) =13, =23, =33, 43, ...

6) -19, -17, -15, -13, ...
Find a,

Finda29
28+ (-13) = -23+/3 « - o
133"(‘0?3) - ~33+°23 = _10

A7 (1D =17 +1G = 2,

A= -0 -/5-(-17)':-/5""7:02
)

Ay = =123 ~10(23-1) zi

Ay = =13 ~/0(22) 29 19+ (29-1)
CIp

L5 = “/13-2R20 g = </ 9 +2(28)
a,, s "/?4‘5’6

a.., - 29

g3 < X33
a;zy =37

7) =30, -130, —230, —330, ...

8) -12, -17, =22, -27, ...
Find a,

Finda,
“/30-(-30): <1364 30 = -100 “{7-(-12) = ~/T#+12 =~§
230 -(~130) = - 230 + 130 = /00 22 -(-17) = -22 #17 = -5
a=-100 Ad=-5
oy = ~30 -100 (38-1) Ay = 12 =5 (401)
Ty = ~30 -100 (37) Qyp = ~12-5(37)
dﬁg= -30 - 3700 Ry < ~/2 ~-/95
Ayp = X0
ﬂjg, - -3730 49 K07

9) 29, -171, =371, =571, ...

10) =24, -14, —4, 6, ...
Find a,

Findo::21

- 171-49 = -200 - (-2d) = 1Y F Y= 10
-39 (-1T)) = -37[+171=- 200 ~f - (-14) = -4+ 14 =10
Ad=-200 ol=10
Q,, = 29 7200 (33-1) o, : ~od +10(1-1)
G, = QG - 200(31) Gy, =~ 24+ 10(20)
aga_.ozq_ LRO0D 4, » - 24 +200

& = /76
s = ~GIT/ 2

Ja



